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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Define Social Responsibility. An organisation cannot 

grow and develop without discharging social 

responsibility. Comment.  

lkekftd mŸkjnkf;Ro dks ifjHkkf”kr dhft,A ,d laxBu 

lkekftd mŸkjnkf;Ro ds fcuk o`f) ,oa fodkl ugha dj 

ldrk gSA fVIi.kh dhft,A  

2. What do you mean by Small Scale Enterprises ? 

Discuss the role of SIDBI as an institution in the 

context of financing of SSEs.  

y?kq m|ksx m|e ls vki D;k le>rs gSa \ y?kq m|ksxksa ds 

foŸkh;u esa ,d laLFkk ds :i esa flMch (SIDBI) dh Hkwfedk 

ij cgl dhft,A  

3. What is disguised unemployment ? How does it differ 

from seasonal unemployment ? Describe the various 

causes of unemployment in India.  

izPNUu csjkstxkjh D;k gS \ ;g ekSleh csjkstxkjh ls fdl 

izdkj fHkUu gS \ Hkkjr eas csjkstxkjh ds fofHkUu dkj.kksa dk 

o.kZu dhft,A  

4. Discuss the significance of export promotion in India 

and indicate the measures adopted in this regard.  

Hkkjr eas fu;kZr lao)Zu ds egRo ij ppkZ dhft,A bl 

lEcU/k eas mBk;s x;s dneksa dks bafxr dhft,A  



 [ 3 ] MCM–101 

 (B-38)  P. T. O. 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Why is FDI treated as a development tool for growth 

and development of a country ? 

,d ns’k dh lao`f) ,oa fodkl eas izR;{k fons’kh fuos’k (FDI) 

,d fodklkRed vL= dh rjg D;ksa mipkfjr fd;k tkrk 

gS \ 

2. Discuss the aspects of achievements and failures of 

economic planning in India.  

Hkkjr esa vkfFkZd fu;sktu dh miyfC/k;ksa ,oa foQyrkvksa ds 

fofHkUu vk;keksa dh  ppkZ dhft,A  

3. Examine the role of India in World Trade Organisation 

(WTO).   

fo’o O;kikj laxBu esa Hkkjr dh Hkwfedk dk ijh{k.k dhft,A  

4. Make an assessment of the Industrial Policy adopted in 

India in 1991. 

Hkkjr }kjk 1991 eas viuk;h x;h vkfFkZd uhfr dk vkadyu 

dhft,A  
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5. What is Industrial Sickness ? Discuss the reasons 

behind industrial sickness in India.  

vkS|ksfxd #X.krk D;k gS \ Hkkjr esa vkS|ksfxd #X.krk ds 

dkj.kksa ij ppkZ dhft,A  

6. What is income inequality ? Describe the three 

measures taken by the government of India to reduce 

income inequality.  

vk; vlekurk D;k gS \ Hkkjr ljdkj }kjk vk; vlekurk 

nwj djus gsrq fd;s x;s rhu mik;ksa dk o.kZu dhft,A  

7. Explain briefly the structural changes in Indian 

Economy.  

Hkkjrh; vFkZO;oLFkk esa gksus okys <k¡pkxr ifjorZuksa dk la{ksi 

esa o.kZu dhft,A  

8. How does an organisation respond to a changing 

environment of business ? Explain.  

,d laxBu O;olk; ds cnyrs ifjos’k esa fdl izdkj izR;qŸkj 

nsrk gS \ O;k[;k dhft,A  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. Black money is generated through illegal activities.  

     (True/False) 

dkyk /ku voS/k xfrfof/k;ksa ls mRiUu gksrk gSA  

     ¼lR;@vlR;½ 

2. Inflation is calculated by taking WPI as the base in 

India.    (True/False) 

Hkkjr esa eqnzkLQhfr dh x.kuk Fkksd ewY; lwpdkad ds vk/kkj 

ij dh tkrh gSA   ¼lR;@vlR;½ 

3. WTO came into effect by replacing TRIPs.  

     (True/False) 

MCY;w- Vh- vks- dks fVªIl (TRIPs) ds LFkku ij yk;k x;kA  

    ¼lR;@vlR;½ 

4. The first five year plan was launched in 1991.  

     (True/False) 

izFke iapo”khZ; ;kstuk 1991 esa izkjEHk dh xbZA ¼lR;@vlR;½ 

5. India follows mixed economic system. (True/False) 

Hkkjr fefJr vFkZO;oLFkk rU= dk izfriknu djrk gSA  

    ¼lR;@vlR;½ 
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Select the best/most correct alternatives for the following : 

fuEufyf[kr gsrq loZJs”B rFkk lokZf/kd lgh fodYi dk pquko 

dhft, % 

6. Which Act was replaced with the introduction of 

Competition Act, 2002 ? 

(a) FERA 

(b) MRTP 

(c) POTA 

(d) None of these 

izfrLi/kkZ vf/kfu;e] 2002 }kjk fdl vf/kfu;e dks 

izfrLFkkfir fd;k x;k \ 

¼v½ FERA 

¼c½ MRTP 

¼l½ POTA 

¼n½ mi;qZDr esa ls dksbZ ugha 

7. In which year Govt. of India appointed the Rangarajan 

Committee on disinvestment in PSFs ? 

(a) 1991 

(b) 1993 

(c) 1997 

(d) 1996 
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fuEufyf[kr esa ls fdl o”kZ Hkkjr ljdkj us fofuos’k ij 

jaxjktu lfefr dh fu;qfDr dh \ 

¼v½ 1991 

¼c½ 1993 

¼l½ 1997 

¼n½ 1996 

8. Which sector got priority in the 1st Five Year Plan ? 

(a) Agriculture  

(b) Industrial  

(c) Infrastructure  

(d) Service  

izFke iapo”khZ; ;kstuk esa fuEufyf[kr esa ls fdl {ks= dks 

ojh;rk iznku dh x;h \ 

¼v½ d`f”k  

¼c½ vkS|ksfxd 

¼l½ <k¡pkxr 

¼n½ lsok 

9. How many tax rates are in GST ? 

(a) 1 

(b) 2 

(c) 3 

(d) 4 
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eky ,oa lsok dj eas fuEufyf[kr esa ls dj dh dqy fdruh 

njsa gSa \ 

¼v½ 1 

¼c½ 2 

¼l½ 3 

¼n½ 4 

10. Which one is not a micro-finance enterprise ? 

(a) NTPC 

(b) IDBI 

(c) IFCI 

(d) SIDBI 

fuEufyf[kr esa ls dkSu&lk m|e lw{e foŸk m|e ugha gS \ 

¼v½ NTPC 

¼c½ IDBI 

¼l½ IFCI 

¼n½ SIDBI 
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